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Subject:Math(Objective)
Choose the best answer.Cutting overwriting and use of inkremover is not allowed

Number of terms in standard quadratic
equation ax +bx+c=0:

a)l b)2

c)3 d)4

Cube roots of -1 are
D-1-0,-0° 10,0
-1, ®" dD-1,0 ,-0°

If b -4ac<0 then roots of equation
ax’+bx+c=0 are

a)lrrational b)Rational
¢)Imaginary d)Real
£ AL then
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au=wk blu=vk
u=w k Du=v'k
Ifatb=xly, the alternando property is:
a b a x
a), =, b5,
c)ﬂ_;ﬁ%)} d)a-b x-y

b ¥y X y
(x+3)=x+6x+9 is
a) a linear equation  b) an equation

c)an identity d) non@efthese

A set having only one ele¢nient is called:
a)Null set

c)Singleton set

b)POwer set
d) Subset

The number of elements in power set of
{123}is:

a)4 b)6

c)8 d)9

The mean of the squared deviations of Xi

observations from their arithmetic mean is

called:

a)Variance b)Standard deviation

c)Range d)Harmonic mean
B} radian =.................

)30’ b)135’

)180’ d)270°
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" In the circular figure %OB is called:
C

a)An Arc b)A secant
¢)A chord d) A diameter

12 In the adjacent figure of the circle, the line
PTQisnamedas Q

b)A chord
d) A secant

a)An arc
c) A tangent

13 : .
The arcs opposite to incongruent central angles

of a circle are always:
a)Congruent b)Incongruent

c)Parallel

4 Given that O is the center of circle then angle
marked by Y will be:

c)Perpendicular

b)25"
d)75-

"> The measure of external@hg¢ of regular

a)12.5"
0)500

hexagon is:
a)T/2
c)m/4

b)n/3
/6
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